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Question No : 1

Which two statements are true about business indicators used for process
analytics?(Choose two.)

A. A counter must be associated with a counter mark in order for the counter to be
incremented.

B. Measures specify how process analytics data can be filtered or grouped.

C. If you do not define any businessindicators, no data is captured at a sampling point.
D. Measurement marks are defined on sequence flows and are visible on the model.
E. The dimensions you have defined are visible on the process model.

Answer: A,D

Question No : 2

Which statement is accurate about verbal rules and business phrases?

A. Verbal ruled can be created in Business Process Composer, but not in BPM Studio.

B. For a particular verbal rule, conditions and actions can include derived business phrases
or user-defined business phrases, but not both.

C. Derived business phrases are automatically created by using facts and globals in the
rules dictionary.

D. Verbal rules must be created in a separate ruleset from general rules and decision
tables.

Answer: B,C

Question No : 3

Which statement is true about BPM Suite’s round trip simu-lation feature?

A. Round trip simulation is a feature of a Process Player.

B. Basing a simulation on actual process runtime data can help you find bottlenecks in a
process model.

C. Unit test suites can be automatically generated based upon round trip simulation data.
D. During round trip simulation generation, process bottlenecks are identified and
highlighted on the model.

https://certkill.com 2


http://certkill.com
http://certkill.com

CERTKILL

Oracle 1z0-435 : Practice Test

Answer: B

Question No : 4

Which is a capability of Web Form rules?

A. altering execution of an unbounded ADF task flow

B. inserting validation rules into an ADF page that a BPM Studio wizard has generated
C. encoding-business policies that can be easily modified by end users at run time

D. populating a dynamic drop-down list by accessing a RESTful service

Answer: D

Question No : 5

Whichtwo statements are true aboutBPM Suite product architecture? (Choose two.)

A. The Process Asset Manager is a container of reusable, shared, implementation assets
available to all processes within a BPM project.

B. Business architecture modeling is supported by a third-party product that Oracle resells
as part of the BPM Suite 12c product family.

C. BPM Suite leverages SOA Suite infrastructure and tooling to support key design-time
and run-time features.

D. case Management is an Oracle add-on product to add adaptive case management
support to BPM Suite.

E. BPM Suite supports BPMN process modeling notation in both BPM ProcessComposer
and BPM Studio.

Answer: A,D

Question No : 6

Which statement is true about a case activity that is defined as “Automatic” and
“Conditional™?

A. The activity is run automatically as soon as the case starts.
B. The activity is run by the system only after it is initiated by the user.
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C. The activity is automatically run by the system as soon asit is activated by a case rule.
D. Only a BPMN case activity can be defined as “Automatic” and “Conditional”.

Answer: B

Question No : 7

Which statement is an unsupported scenario for virtualization through libOVD?

A. Dynamic groups used to determine group membership.

B. Users and groups used for task assignment are stored in a relational database.

C. Users and groups used for task assignment are stored in an external LDAP server or the
embedded LDAP server.

D. Users and groups used for task assignment are stored in multiple external LDAP
servers.

Answer: C

Question No : 8

Which two features are provided on the Tasks page of Business Process Workspace?

A. Display Status for Adaptive Case Management (ACM) cases.

B. View human tasks based on the user’s permissions and assigned groups and roles.
C. Create personal to-do tasks that are unassociated with a process instance.

D. View who is currently assigned to a task that the current user has completed.

Answer: B,C

Explanation: The Tasks page displays tasks for the user based on the user's permissions
and assigned groups and roles.

Perform authorized actions on tasks in the worklist, acquire and check out shared tasks,

define personal to-do tasks, and define subtasks.
Reference:http://docs.oracle.com/middleware/1213/bpm/bpm-
user/bpmug_ws_gt_strt.htm#BPMUG121

Question No : 9
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Which two product features might a process analyst use the most in contrast to a process
developer? (Choose two.)

A. Process simulation.
B. Business rules.

C. Mediator services.
D. Web Forms.

E. BPM Studio.

F. ADF forms.

Answer: A,D

Question No : 10

What does the case engine use as the content store if a content management system is
not specifically configured for case management?

A. Oracle WebCenter Content
B. a CMIS content store

C. afile system

D. a database

Answer: D

Explanation: Case Data: the data for the case stored in the BPM database.
Reference:https://docs.oracle.com/middleware/1213/bpm/bpm-
develop/case_mgmt_bpmpd.htm#BPMPD87410

Question No : 11

The process payload, including customer name and order ID, is stored based on a single
XSD-based data object and the human tasks in the process use this XSD definition. End
users need to see the customer name and the order ID as columns in their default inbox
task list.

Which three approaches best accomplishthis requirement?(Choose three.)

A. Either public or protected flex fields can be used to displays the customer name and
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order ID without having to add additional process payload data objects.

B. Public flex fields can be used if two new simple data elements, representing the
customer name and order 1D, are added to the humantask’s list of data objects.

C. Public flex fields can be used if two new simple process payload data objects,
representing the customer name and order ID, are first added.

D. Public flex fields can be used only if they have first been created in the workspace and
the two have been added as mapped attributes in the human tasks.

E. No changes to the human task’s incoming data or data associations are necessary if
protected flex fields are used.

Answer: A,B,E

Question No : 12

Which two statements are accurate about how ADF Business Components can be used in
a task flow for a human task? (Choose two.)

A. They can create and insert a new row in a database table.

B. They can invoke wildcard control flow rules in the task flow.

C. They can initialize the information displayed on a form when given an ID from the
process payload.

D. They can declaratively map database information back into the process payload.
E. They can invoke task flow call activities.

Answer: B,E

Question No : 13

Which statement is true for a BPMN subprocesses?

A. It has access to the data variables of the main process.

B. Data have to be explicitlypassed back and forth between the main process and the
subprocess.

C. The subprocess can be reused and called from other processes.

D. The sequence flow inside a subprocess can be diverted and joined to the main flow
without going through an end event.

Answer: C
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